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QUESTION 1

View the exhibit, which contains the partial output of a diagnose command, and then answer the question below.

Spoke-2 # dia vpn tunnel list
list all ipsec tunnel in vd O

bound_if=3 lgw i/ 1=1in oc to/ cap=none/0

proxyid nuwm=1 8 92 auto-discovery=0
stat: rxp=0 X

dpd: mode=on nS : 3 coun gno=0

natt: mode=none draft=0 inte

VPN proto=0 sa=1

8 expire=42403/0B replaywin=2048 seqno=1 esn=0

Based on the output, which one of the following statements is correct?
A. Quick mode selectors are disabled.

B. DPD is disabled.

C. Anti-replay is enabled.

D. Remote gateway IP is 10.200.5.1

Correct Answer: C

QUESTION 2

Which of the following conditions must be met for a static route to be active in the routing table? (Choose two.)
A. The next-hop IP address is up.

B. There is no other route, to the same destination, with a higher distance.

C. The link health monitor (if configured) is up.

D. The outgoing interface is up.

Correct Answer: CD

QUESTION 3
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View the exhibit, which contains a partial output of an IKE real-time debug, and then answer the question below.

e

g notify type 3 UT_QUERY

=e

=

cut-gquery 409121717827462883 e501ch2lacedd374/0000000000000000
64 ppk 0 tt 0 ver 2 mode O
2171782

.3.1 10.1.1.254->10.1.2.254 psk 64 ppk 0 tcl

informational recues
ng notify type SHOR
ut-reply 40912171
{ 64 ppk ]

4 psk 64 ppk 0 ttl 31

Based on the debug output, which phase-1 setting is enabled in the configuration of this VPN?
A. auto-discovery-receiver

B. auto-discovery-forwarder

C. auto-discovery-sender

D. auto-discovery-shortcut

Correct Answer: A

QUESTION 4

An administrator has configured two FortiGate devices for an HA cluster. While testing the HA failover, the administrator
noticed that some of the switches in the network continue to send traffic to the former primary unit. The administrator
decides to enable the setting link-failed-signal to fix the problem. Which one of the following statements about this
command is true?

A. Forces the former primary device to shut down all its non-heartbeat interfaces for one second while the failover
occurs.

B. Sends an ARP packet to all connected devices, indicating that the HA virtual MAC address is reachable through a
new master after a failover.

C. Disables all the non-heartbeat interfaces in all the HA members for two seconds after a failover.
D. Sends a link failed signal to all connected devices.

Correct Answer: A

QUESTION 5

View the exhibit, which contains the output of a real-time debug, and then answer the question below.
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FGT # diagnose debug application urlfilter -1
FGT # diagnose debug enable

nmsg="received 3t /tmp/ . ngin 76 -ket, addr_len=37:

vfid=0, profile='defaulc',

33.165.116 dport=80
re="training.fortinet uxr / on=9 (ftgd-block
165.116 dport

(1]

Which of the following statements are true regarding this output (Choose two.)
A. This web request was inspected using the root web filter profile.

B. The requested URL belongs to category ID 52.

C. The web request was blocked by FortiGate.

D. FortiGate found the requested URL in its local cache.

Correct Answer: AC
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